SuUuMPO « Third party verified

‘ E P D Environmental Product Declaration

JAP AN In conformance with

VERIFIED 1ISO14025
SUMPOEEIEINILFO4F L (SUMPO EPD)

1SO14040 ‘ 1SO14044

~ LEARM RNt
WOO d ISt ® Yamasa Mokuzai Co.,Ltd.
EREMY (AF)

Structural Timber (Cedar)

ERES RIEAEHE NS REIEZhEAM EPDA1S
SUMPO-EPD-2604-76-1 2026/4/10 2026/4/20 2031/4/9 JI-THZHEPD
KEFHINBAEMRARE
ENDEMMRIE EPDIXREHIRI CHoTE, BFF A AN R I ELBZIEHHYET,
EPDDERF RS LU B IEERER T BICFA T E#RERL TLESL,
1SO21930:2017

https://ecoleaf-label.jp/epd/search



R %ES) SUMPO-EPD-2604-76-1 . E p D

VERIFIED

Environmental Product Declaration for Structural Timber (Cedar)

Q@ EKIEHR
>0 L1ER
TOIILEFR SUMPORRIESNILTOJ I A
TOISLARL-9-  —HEFEAYAT IR Z HEEEE
FrTEH: ERHTAHERX AN EL-14-8 KANDA SQUARE GATE 4F
JIJHA https://ecoleaf-label.jp

> GPI+PCRIE$R

GPI SUMPO EPD Japan General Program Instructions v.2.1.1
PCRE& TR B RUEFRSS Core-PCR v2.0.2
PCRE#RE= SUMPO-PCR-01000-2-0-2
PCREZZEH 2025/03/31
LEI-KRIVEER (FiE) #5% 5t EEERAY L5505, —RUFEAEE BES DG s Y- BER)
PCRBEZEARR 2030/03/30
PCREITH —REEEAY AT H IR S HEERE S
> IR ER
1S014025% 1}1S021930:2017(ZHE 1= 58 = E R EE
} " O W B A
RAEOER o REALSE g RERBICED o EPDYRTLRE
B =HMRAL = HIRA [CKBE=FHIRE

RITHE (RIEMmE) —BUREANTYTAMYS- (F3# B9

> ZEHLARE
B 1S014040:2006 B 1S014044:2006 [0 1SO14067:2018
AEULIRAE B 1S014025:2006 O 1S021930:2007 H 15021930:2017
[0 EN15804+A2 [0 EN50693:2019 O I1SO/IEC63366:2025

EPDICEEHOEHR R UEPDICEHOIEHRICEE T 3 RIETRICOVTOEFIFEPDESEEENMFEET, EPDORNRICRIT 3T A, FEREIE(CDL
TIL. EPDERBEEE L THANEDEESN,

EPDOLLER(L, EEE ROMEEEE T (CEBLELETERINATNEESAEN S, BERMRICEIZEMOIM I 2EEEEL. BRERICS
WTRIEOAGEFEELEYFTUAEERALTIWAHENHYET, EPDOLLERDBRICE BIREXGEAST SNMEATEPCRESIBL TS,
EPDDELER AT REME (T, #EREEAMIZBAL TVAEDICBRESNET,

RIS ETMEREHETHENIBHETT, BIEOASSICEVRBEAOFEL—BCHERITONIEOTRHYEEA, £, BEELEHREITRE
NOEFRMLGFEOAEZIP RN FELBALTVINE) (UAVTHE CREPABICENETOREEZREINE) 2EERIEOTRHYEE

Ao
MEFHZRAVEEEDS S 17V IV EFMmER RO IV VRY NS BEIEIFR. BEYBEERBR. HH70-CRETREER

F FEOHERIOVTDIERTREHYEEA,

@EPDHUSERB IR
EXEEL-HEA iEAM %A S &&EEE  Production Department, Yamasa Mokuzai Co.,Ltd.
fEFR B R B R EER AT ETRTE2090
FMWEhE %L TEL 0994-31-4141 FAX 0994-31-4142
LCAEERM®E (FTE) MHAtIAvIND

HEEHE B R RO ERM - CLTORGE - I T/ ARBAEREDRETHEL



SuMPO

_ 3APAN

BHES) SUMPO-EPD-2604-76-1 E p D
Environmental Product Declaration for Structural Timber (Cedar) ‘
VERIFIED

O H MR
B RATR BEREM (AF) Structural Timber (Cedar)
DL IASEEEREM IEA /T

BEHEEE AEBSEECERINZAEMR

BREE  380.01kg/MxwssmotEcssEn HaERE  380.0lkg/m
iuu@ﬁﬁL BEYEZEOR. H. L EBREOEELHM

BiERE  EAMIASHEIRICEMLAE M

FH EBYMEOERARICESS
MAEHR  EAXH BYSOEAREFICESS
FEHEFZTELRNW —
SEY L (RWEHS) TEIS (BRESEFTHE) (AT (BRERATHED
8 o EEMOAXHEEAL. MELEREEEOGL., 2. £ EFMIETV. EEREENS
RNEBEREAMICERINET,
BEIIITA( http:/www.woodist.co.jp

Smftrr

O K RUMEICRHI B ER

HmBRER 5 (%) BE
b %) 100.0 380.00 kg
DEMIBRESR 5 (%) BE
ENVE 100.0 0.01 kg
QOLEYHRKREEEE
IE5H 8= (kg-C) EHE (kg-CO: eq)
HRHPEYDEYHKRREZESEE 165.30 606.10

RHTICOPBEEMOEYHRRRREEE 0.00 0.00



H#HES) SUMPO-EPD-2604-76-1 E p D
Environmental Product Declaration for Structural Timber (Cedar) .. J A

OLCA BEIER
>EPDY 1 T1E#R
BRI1T
EPDY1TS  BAIA4T
FRAE
Hh 3B (Y i B

BB RIEBT

#&EEPDICHITS

REMEDREA

BHER/BHEI 1 NEED
EPDICHITE. EEFERD
+TigICBI S B5% R

BB REPDDETEA

> LCAREIE IR
=i—:-Kiva
BEEMNLIOEE
(HEADREFR)
HAIO- (BEEMEBLTLED
CHELHEH)
JATLER
LCAYIIIT
LCIT=9R-Z
FHELETIV
ZOfONY IS5 RT -4

“RT-ImE

—RT-FIRNEM R

VERIFIED

O HE—Hm B JI-TEE O =fR&m

B BEYIH O #®#HY1h

O HBEE B NEFHE O {AkfE 0O LEBRME
J0-100

BHBTERTEIIMIGLYDEREE—, WEYAMEBARDOR -V THRIL. e
TOERBHEAZE, IRNF-FEHBEEODOVWT—RT-YERELTEEFMET>CVNBI LN
LRAKRMEFERINTVNEEEZILNS,

FHBEE TRV TEEINTEY, EEEMIM3BHLYOESERICHIT 28 EEM - I
RNF-BABFEARNICR—£ETHB, £EL. WA TEDZEVCEVALRZIETRRCS
P28 RaFICERNMEL. INCHVEASERESLV IR TEREEaRTICENE L2,
INGOERZRMBLTEEET>LER. WROBMTERICEI2EE/ROERIELET
10% UAARICURF R L ZRERL TS,

R—Y1 b~ RZM - TOCATEESN EASA REZE A EIM3BH TV ITHRE L TEPDZRIRL
W3,

HH1m3H1=Y
380.01kg/ M XX REAMIDE EIC L2 HEEE
B Cradle-to Gate [] Cradle-to-Gate with options ] Cradle-to-Grave
MILCA verl1.2.1.13
IDEA v3.4

GWP IPCC2021 100a. LIME2

GPICHEEDZRT-I REEH/ELET-IERAVTERE{To, B, T-Y RE AL
ISO 14044 : 2006 (BRIEVERIAYE —FATYAINTEIAY F—BERFERUEH) O
4.2.3.6 [CHE>THTof,

TEIS. AHETH

—RT-HUINEHR 2024458 ~2025%4A
AYRERZOERYKRLY | O o/0770-F B -1/+1770-F
EREE B EPHEOFIRNEENIVIR O zZoft
BAHEMIC 'E -
BEd2E®R BAR -
®ITTT -
> B TE XN RERPE
et e J— 13 PR ER Bk e 5
B ELEER R MB1TER B i S aoKEE AR AR ER B i
Al A2 A3 A4 A5 Bl B2 B3 | B4 B5 B6 B7 Cl1 C2 | C3  cC4 D
B T 7} I B BE A
o o % fi# 3
M 5 5 HE Ktk Zz R FE #
BoA B A m o ® B € E & L . T momom
o 0o ® o I B & & 3 (. - ) I)! &
ECI £ = . = wOBE A ;
O % # % B
"E E E®E - - - e e e T T e e N I -
B EERER - EENRA



SuMPO

JAPAN

R %ES) SUMPO-EPD-2604-76-1 E p
Environmental Product Declaration for Structural Timber (Cedar) ..
VERIFIED

>707-v3y

AEETR. GPICEHOFIBECIOCAOM AL LU T7O-T-vavERELE,

FRCELE TRRICBI 2L BH. DUBING IEBUKAK, EZEAESKOBVHETOVTER AOME £ HRERE
HRAK BT ZTREPERICEARNIENS, TRICLZEES (WEE) B THRERADTOT-VIvE
EHEL, ZOMERERMBOBFENVRIOVWTE, RRICEES (WEBE) BRICEIEZRERANOTOT-VavEERkELLE,
BMIRICEVTRETZIECT ., FvI. LB, BHEORIRER (R I-BREEEEVNRVEE(CLD5| S8
Y) BFEELTNE, ZNSORIREZICDOVTE, EBHTREBEVESHIRIF - KEOTOT-Y3aVEFIT2TEST. YR
TLAERANTHREBFTIRNCERNEEIET S,

>hybkA2

BIERENMMAO TT-YINENRERTOTACDWTIL, PCRICEEEHDNY A TE SRR LAY A TET o1z, JASHR
BB G THBIZEETRTY-IVEFCDOWTE IREA-D-[CEY R E - FAELFHYRREVIE EEOLIEFN RS L0, &
BHTI%RBETHEIL. FFEEMBE SN OEMEN BV ZER L. Iy hATELTE,

>YATLER

PCRICEDEYAT MER DR E XTI, GPIBLUPCRICTUERATO AL EHONEDE, Ad~CEEENRAL LTS, BRIV A
FLIER($100ETH B,

B E & F (LCradle to GateMAL-A2:-A3TH3B,

LUFOIEBIEPCRAASICEINT, YATABRALLTEENREEANSBRALE,

- REBOEBREVBBECMRZIOLR

- IR PEEZCHRZIOELR

- BLSHER PR FEEOERAM OB ERVERCHRZTOLR (RERRUREZRHEERO

- BRETERASNZ MY PRIASORE(CRZTOER

- EEEVPEFE. BN REIIEROEEUNMTERTZNANEYEICRSZTOLA

>yFuA
1) A

A2 HEREOERHLUOEFHRICOVWTIPCROYFYAZEA L,

A3 BEBOERLLUEEHRICDOVWTIIPCROVFTUAEEE LR,

>BHEFYVY

WHRETZLTDIA IV VIVERRBECHEVNT, 2021 F(CHE 2 A ATHORBKENDOT - AN TEEZITok,



SuMPO

BHES) SUMPO-EPD-2604-76-1 E p D
Environmental Product Declaration for - Structural Timber (Cedar) ‘

__3APAN

VERIFIED

>3147919)70-K

A3

SLERI A Tpes
Vit
- =
EA e HEELE—
- e




SuUMPO

H§#%S) SUMPO-EPD-2604-76-1 . E P D

Environmental Product Declaration for Structural Timber (Cedar) JAPAN

VERIFIED

OHTERER
>I1TY1 7V EEFImER
8 s {55 FR R B
EMBLEERRE BB e SEaokEE PRARER P BRN
Al A2 A3 Al1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 c1 c2 c3 c4 D
K[UREEE - BF kg-COzeq| -1.64E+03 | 3.29E+01  1.31E+03 -2.89E+02 - - - - - - - - - - - - - -
SUREE - L RE%K kg-COzeq| 9.55E+01 | 3.28E+01  1.86E+02 3.15E+02 - - - - - - - - - - - - - -
SUREE) - £k kg-COzeq| -1.73E+03 | 4.74E-03 | 1.13E+03 -6.04E+02 - - - - - - - - - - - - - -
K[ELE - LA A RUHE kg-COzeq| 1.98E-01 | 2.63E-02  2.37E-01 4.62E-01 - - - - - - - - - - - - - -
AV BHIE kg-CFC-1leq 6.23E-06 | 1.17E-09 = 1.04E-05 1.66E-05 - - - - - - - - - - - - - -
BEREL kg-POs3-eq 1.59E-02 = 1.48E-07 | 2.24E-05 = 1.59E-02 - - - - - - - - - - - - - -
[i7qc (4 kg-SO.eq 6.31E-02 = 3.66E-02 | 5.96E-01 = 6.96E-01 - - - - - - - - - - - - - -
HALZAFIT Y MERK kg-C-Hseq 6.73E-04 | 2.54E-04 | 2.97E-03 = 3.90E-03 - - - - - - - - - - - - - -
BINATYAYOIATHAY 5 E T
FEMERES - L kg-Sbeq = 4.91E-04 = 1.15E-07 | 9.09E-04 = 1.40E-03 - - - - - - - - - - - - - -
S[UREE) - A2 idmx kg-CO-eq - - - - - - - - - - - - - - - - - -
>SATYL1IWAIRY N AR BEEER ——REROERCET 21E1E
8 s {55 FR R B
EMBLEERRE BB e SEaokEE PRARER B BRN
Al A2 A3 Al1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 c2 c3 c4 D
HEAIHE—RER - IRILF- (RPRe) MJ 1.95E+02 = 150E-01  1.73E+03 1.93E+03 - - - - - - - - - - - - - -
BEAR—RER - IRIVF-SHME RPRy) MJ 2.09E+04 = 3.01E-04 = 3.16E-02 K 2.09E+04 - - - - - - - - - - - - - -
FEFAEFE—RER - IRIF- (NRPRy) MJ 1.44E+03 | 3.63E+02  5.44E+03 | 7.24E+03 - - - - - - - - - - - - - -
FBETE—RER - TRIF-SBHE (NRPR,) MJ 2.32E+01 = 1.04E-03 | 2.50E+00  2.57E+01 - - - - - - - - - - - - - -
>SATYL1IWAIRY N ARBEEER — — R EROERCET 21E1E
. e en " fEFAERRE S nen
BEMELEER R METERRE aHmE SRk PRARERPE H5RH
Al A2 A3 Al1-A3 A4 A5 Bl B2 B3 B4 B5 B6 B7 C1 c2 c3 c4 D
ZR#E kg 3.16E-01 | 1.27E-04 = 2.25E-01 @ 5.41E-01 - - - - - - - - - - - - - -
BERREZRIARE MJ 6.52E+01 | 7.33E-05 | 4.91E+01  1.14E+02 - - - - - - - - - - - - - -
FEFE AR R MJ 2.41E-01  4.22E-04  8.13E+00 8.37E+00 - - - - - - - - - - - - - -
ERTRIVF - MJ 1.01E+00 | 7.07E-04 A 9.04E+00 1.01E+01 - - - - - - - - - - - - - -
>S4TH1I WA IRY NI S RBEE R —IEEMER-LRREL, RKOHER
8 s {55 FR R B
EMBLEERRE BB e SEaokEE PRARER B BRN
Al A2 A3 Al1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 c1 c2 c3 c4 D

FEMEREB-LR MJ 1.34E+03 | 4.49E+02  2.58E+03  4.37E+03 - - - - - - - - - - - - -
HIKDHE m 2.39E+03 | 8.81E-04 | 7.24E+00 2.40E+03 - - - - - - - - - - - - - -



Environmental Product Declaration for Structural Timber (Cedar)

> BEEYBIEE R

BEREY

BEREY
BULAIV RS ERZEY
RELMELANIV B EEEY

> A 70-ICET BRIEHER

B AR ER S

UYA VR

TRIL¥-EUNEM

BEEMNSOPEHIRILE-
(IRIVF-EINNE 260%)

BEEMOEEH BEEMENAS B
(TRILF-EIEHR

<60%) BRI %

RRAOEIT RS E
(FREHOEBITULY

RAETHRUAANGOT ‘

EUXIRIVF-

RIVF-ER)

kg
kg
kg

MJ

kg

MJ

kg

MJ

Al
0.00E+00
4.29E-01
1.19E-09
4.99E-07

Al
0.00E+00
0.00E+00
0.00E+00

0.00E+00

0.00E+00

0.00E+00

0.00E+00

0.00E+00

EMBLERRE

A2 A3
0.00E+00 | 0.00E+00
2.45E-02 | 1.00E+01
9.57E-13 = 1.06E-08
4.00E-10 = 4.43E-06

BMELER

A2 A3
0.00E+00 ' 0.00E+00
0.00E+00 ' 0.00E+00
0.00E+00 ' 0.00E+00

0.00E+00 | 0.00E+00

0.00E+00 | 0.00E+00

0.00E+00 ' 0.00E+00

0.00E+00 | 9.46E+00

0.00E+00 ' 0.00E+00

Al1-A3
0.00E+00
1.05E+01
1.18E-08
4.93E-06

Al1-A3
0.00E+00
0.00E+00
0.00E+00

0.00E+00

0.00E+00

0.00E+00

9.46E+00

0.00E+00

HETERRE

A4

A5

HETERRE

A4

A5

B1

B1

B2

B2

HMBSE
B3

ABaE
B3

fEF R

B4

BB

B4

B5

B5

ZHES) SUMPO-EPD-2604-76-1

SRR EEE

B6

JeEIKBE

B6

B7

C1

FRARERRE

FRAKER B

SuMPO

EPD

JAPAN

VERIFIED



SuMPO

BEHRES) SUMPO-EPD-2604-76-1

Environmental Product Declaration for Structural Timber (Cedar) ‘ E W W Rt
VERIFIED

> CAHERRICET 55

EEREERRE (AL 1 EMEOFE, A2 | EMEIOEIX, A3 : ROEE) OEEHRTHS,
-HBEROETEEUHLYICETEINTWS K RITEE (3. 606.10kg-CO2TH3, (COREE
RRFTEE M TI2EY LB UAM IRZR R EDRRICEITZAMNIMVICEI3 R REFREHERL
EJsgEHLE,
RBROEEERE, T-IREF IO TERIEINZHROBEN —ECTREBNS, BB BRAIBEMN DS,

Q@ EINIRIEEIR
> LCAICBIELAVEINEIEIE IR

ABBEEICRAINZIFEAKRIG. £TTY-YIYNEOBEARMEER FEAZEIVIROEM 5L LTI E 178 DR,
AMMTRZEERVIRO THE LT E27E |OFEROm A ZEIS LT3,

ﬁaﬁzﬂﬂli**jvkubu %‘JF_%EEX LJ—C})U jJDI /)IL@L%EZLUJ(Lﬁfiénzb\égtw IEHEE%/EH_I@L%tEI'—J:U_J
H3.

>HEMEICET3ER
FEYVEL CAS No. BASNSEEI R OSSR

EMBELUEZRERNSOBERYE DK H

BHICEL

ORENESR

BCEL

@S E Xk

*1S014025:2006 Environmental labels and declarations — Type Il environmental declarations — Principles and
procedures

+1SO014040:2006 Environmental management - Life Cycle Assessment - Principles and framework
*1SO14044:2006 Environmental management - Life Cycle Assessment - Requirements and guidelines
+1S021930:2017 Sustainability in buildings and civil engineering works — Core rules for environmental product
declarations of construction products and services

MEFFT TR TR B UAMICRZR RITEEDRRICET 301851 ]

O ERE



